Equalities (A)

Find the value of each unknown.

2+4$=2+1 ®@+9=6+10
7+0=9+2 4+X=8+2

3+3=5+% 442=0+2

H+9=6+5 8+9=8+A

H+4=4+8 4+H=11+4
4+3=3+m 12+3=M+9
O+12=1+12 12+2=@ +4
S+2=7+1 247=n0+2
O+10=11+2 94+2=10+<¢
11+6=H+12 5+2=0+3
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Equalities (A) Answers

24¢=2+1
=1

7+0=9+2
N=4

3+3=5+ %
¥ =

H+9=6+5
HH =

H+4=4+8
H=38

4+3=3+m
=4

O+12=1+12
o=1

S+2=7+1
$=6

O+10=11+2

O=3

11+6=H + 12
H=5

Find the value of each unknown.

®@+9=6+10
@®=7
44+X=8+2
X=6
442=0+42
0=4
8+9=8+A
A=9
A+FH=11+4
H=11
124+3=H1+9
=6
124+2=@ + 4
® =10
24+7=o+2
a=7
9+2=10+¢
=1
54+42=0+3
N =4
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Equalities (B)

Find the value of each unknown.

10+ m=9 +2 3+0=10+2
S5+A=7+2 6+0=2+38
12+11=11+9 94+49=4%+8
O+9=8+2 10+3=V+11
44+12=10+ ¢ 9+7=x%+10
x+2=3+1 3+3=3+9¢
1+49=0+5 44+ ®=4+12
3+12=0+9 124+7=7+V
S+6=4+12 4+8=10+6
1+11=0+3 H+12=12+3
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Equalities (B) Answers

10+ m=9+2
m=1
54+4A=7+2
A=4

12+11=11+9¢
0 =12

O+9=8+2
o=1

44+12=10+ ¢
¢=6

x+2=3+1
% =2

1+9=0+5
N=5

3412=00+9
O=6

S+ 6=4+12
¢ =10

1+11=0+3
O=9

Find the value of each unknown.

3+o0=10+2

o=9

6+0=2+8
N =4

9+9=¢+8
& =10

10+3=V+11

V=2
9+7=%+10
% =6
3+3=3+9
0=3
44+ ®=4+12
® =12
12+7=7+V
V=12
++8=10+6
=38

H+12=12+3
h =3
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Equalities (C)

6+e=7+7

5+12=12+H

0+11=8+12

12+8=0+10

1+e=1+1

&+11=10+5

11+2=%+10

x+12=10+8

m+5=7+8

44+3=0+6

Find the value of each unknown.

345=4+4+m

5+12=0+5

8+H=9+11

7+12=12+0

7+11=0+49

11+[]=7+6

10+90=11+11

H+9=3+7

8+6=0+4

3+aa=1+3
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Equalities (C) Answers

6+e=7+7
=28

5+12=12+H
=5

0+11=8+12
0=9

124+8=0+ 10
O =10

1+e=1+1
¢=1

&+11=104+5
=4

11+2=%+10
% =3

x+12=10+8
% =6

m+5=7+8
m =10

4+3=0+6
N =

Find the value of each unknown.

3+45=4+m
m=4
5412=9+5
V=12
8+H=9+11
H=12
7+12=12+0
N=7
7+11=0+49
N=9
11+[]=7+6
=2
10+90=11+11
Q=12
H+9=3+7
H=1
8+6=0+4

¢ =10
3+aa=1+3
=1
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Equalities (D)

Find the value of each unknown.

12+[]=3+11 4+H=5+11
9+4=0+3 6+3=2+0

O+10=5+6 2+6=@+2
H+7=8+11 ¢+8=6+11
2+2=%+1 @+2=1+5
V+7=5+9 44+6=4+0O

5+6=6+]] ]+1=4+9

6+8=V+3 3+9=10+®
O+1=1+3 124+1=9+®
O+9=12+8 12+46=®+9
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Equalities (D) Answers

12+[]=3+11
1=2

9+4=0+3
O =10

O4+10=54+6
o=1

H+7=8+11
H=12

2+2=%+1
% =3

V+7=5+9
V=7

5+6=6+]]
1=

6+8=V+3
v=11

O+1=1+3
O=3

0O+9=12+8
0=11

Find the value of each unknown.

4+H=5+11
=12
6+3=2+0
O=7
2+6=@ +2
@®@=6
¢+8=6+11
=9
®@+2=1+5
®=4
44+6=4+0
O==6
l+1=4+9
=12
349=10+ ®
® =2
1241=94+®
® =4
12+6=®+9
® =9
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Equalities (E)

3+a=2+3

11+0=9+38

6+12=%+7

O+11=6+8

5+410=%+5

&+3=3+4

6+m=4+5

®@+8=11+4

124+4=5+V

8+5=84+n~

Find the value of each unknown.

An+9=10+5

H+1=3+2

V+3=1+4

1+0=1+2

7+43=n0+38

5+®»=10+6

44+0=5+6

10+5=0+11

44+90=5+2

6+e=7+7
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Equalities (E) Answers

3+aa=2+3
=2

11+0=9+38
0=6

6+12=%+7
=11

O+11=6+8
O=3

5+410=%+5
% =10

&+3=3+4
& =4

6+m=4+5
m=3

®@+8=11+4
®=7

124+4=5+V
V=11

8+5=84+n~
A=5

Find the value of each unknown.

a+9=10+5
=6
h+1=3+2
=14
V+3=1+4
V=2
1+o0=1+2
o=2
7+3=o0+8
=2
5+®=10+6
® =11
44+0=5+6
o=7
10+5=0+11
0=14
44+0=5+2
=3
6+e=7+7
=38
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Equalities (F)

Find the value of each unknown.

4+0=9+5 10+3=H+7
12+3=m+6 2+8=9+4¢
¢+3=3+1 6+X=6+7
7+4=9+0o 7T+H=7+7
1+3=2+M 11+ m=10+4
34+0=5+8 1+®=3+2
5+9=[+4+10 2+7=V+2
7+0=9+9 12+0=2+11
O+3=10+1 7+5=0+4
6+1=@ +2 O+10=9+10
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Equalities (F) Answers

44+0=9+5
0=10
12+3=m+6
m=9
¢+3=3+1
¢=1
7+44=9+
=2
1+3=2+H
=2
3+0=5+8
0 =10
5+9=[]+10
=4
74+40=9+4+9
0=11
O+3=10+1
O=8
6+1=@® +2
@®=5

Find the value of each unknown.

10+3=H+7
H=6
24+8=9+ ¢
¢=1
6+X=6+7
X=7
7+H=7+7
H=7

11+ m=10+4
m=3
1+®=34+2
® =4
24+7=V+2
V=7

12+ O=2+11
O=1

7+5=0+4
O=28

O+10=9+10
o=9
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Equalities (G)

Find the value of each unknown.

4+ H=3+12 1+®=4+38
124+1=10+ o 124+V=8+9
1249=0+12 9+12=0+12
1+10=5+m 8+10=A+12
5+a=3+7 2+0©O=3+38
O+1=1+10 10+12=H+12
5+n=2+6 44+11=® + 4
8+V=8+10 114+V=10+12
3+6=<¢+5 h+2=8+6
O+3=7+1 7+10=X+7
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Equalities (G) Answers

4+H=3+12
H=11

12+1=10+

=3

12+9=0+ 12
0=9

1+10=5+ 0O
O=6

54+4a=3+7
A=5

O+1=1+10
N =10

5+a=2+6
=23

8+V=8+10
V=10

3+6=¢+5
¢=4

O+3=7+1
0=5

Find the value of each unknown.

1+®=4+8
® =11

12+V=8+9
V=5

94+12=0+12

V=09
8+10=A+ 12
A=6
2+ (O =3+38
©=9
10+12=H+ 12
H =10
44+11=® + 4
® =11
114+V=10+ 12
V=11
H+2=8+6
=12
74+10=X+7
X =10
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Equalities (H)

10+ 6=9+10

N+5=7+4
X+1=1+46
1+3=X+2

9+11=12+H

4+0=1+7

4+0=6+6

¢+1=6+1

124+4=a+7

3+44=%+5

Find the value of each unknown.

N+9=12+4

11+12=X+12

«+10=5+6

10+ ®=7+12

6+[]=8+8

1+10=H+5

4+12=12+0

O+6=5+4

7+0=11+5

6+V=5+8
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Equalities (H) Answers

10+4=9+10
=9

N+5=7+4
N=6

X+1=1+6
X=6

1+3=X+2
X=2

9+11=12+H
=38

44+0=1+7
0=4
44+0=64+6
0 =8
¢+1=6+1
=06
124+4=na+7
=9
3+4=%+5
% =2

Find the value of each unknown.

N+9=12+4
N=7
11+12=X+12
X=11
4a+10=5+6
a=1

10+ ®=7+12

® =9
6+[]=8+8
[]=10
1+10=H+5
H=6
44+412=124+0
O=4
O+6=5+4
©=3
7+0=11+5
0=9
6+V=5+8
V=7
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Equalities (I)

6+1=3+no

11+8=12+9¢

10+12=0+10

++3=2+10

149=4+40

9+ ©O=1+10

2+ ®=249

1+®=5+3

h+7=3+6

8+12=A+11

Find the value of each unknown.

6+O0=10+7

3+Oo0=1+12

2+4=2+2

6+90=3+5

7+4=8+V

10+5=6+]

34+2=H+1

7+9=0+12

12+4=7+no

O+12=11+11
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Equalities (I) Answers

64+1=3+n
=4
11+48=12+9¢
0=7

10+12=0+10

N =12
a+3=2+10
4=9
149=4+40
V=6

9+ =1+10
O=2

2+ ®=24+9
® =9
1+@®=5+3
@®=7
h+7=3+6
=2

8+12=A+11
A=9

Find the value of each unknown.

64+0=10+7
Oo=11

3+O=1+12
0 =10

2+6=2+4+2
=2
6+90=3+5
Q=2
74+4=8+V
V=3
10+5=6+]
=9
3+2=H+1
H=4
7+9=0+12
O=4
124+4=7+n~
=9

O+12=11+11
0 =10
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Equalities (])

% +8=6+6

4+6=%+1

7+2=1+0

114+41=0+5

12+5=90+6

O+a=9+7

7+8=A+8

3+40=4+7

11+ a=9+10

9+4=12+®

Find the value of each unknown.

34+4=4+5

10+%=10+9

12+V=4+9
3+5=2+%
10+4=5+9
2+9=8+40
®@+10=7+4
10+1=9+0O
44+2=54+0
h+6=11+7
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Equalities (J) Answers

% +8=6+6
% =4

4+6=%+1
% =9

742=1+0
O =8

114+41=0+5
N=7

12+5=90+6
0=11

O+a=9+7
=7

7+8=A+8
A=7

3+40=4+7
N =38

11+ a=9+10

=28

9+4=12+®
®=1

Find the value of each unknown.

3+4=4%¢+5
& =2
10+%x=10+9
% =09
124+V=4+49
V=1
3+45=2+%X
X =6
10+4=5+9
0=9
24+9=8+4+0
V=23
®@+10=7+4
@=1
10+1=94+n0O
O=2
44+2=54+0
o=1
H+6=11+7
=12
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